
Numération : correction des exercices 1, 2, et 3 page 40 du 27/04
Exercice 1 page 40 :

A= 7 = 0,7
     10

B= 13 = 1,3
      10

C= 18 = 1,8
      10

D= 21 = 2,1
      10

E= 25 = 2,5 
      10

Exercice 2 page 40 :

a) 14 =  10 + 4 = 1 +   4  = 1,4
       10     10    10          10

b) 35 = 30 + 5 = 3 + 5  = 3,5
       10    10    10        10

c) 9 = 0 + 9  = 0,9
      10         10

d) 126 = 120 + 6  = 12 + 6  =12,6
        10      10     10           10 

e) 59 = 50 + 9  = 5 + 9  = 5,9
       10    10    10         10

Exercice 3 page 40 :

a) 7,8 = 7 + 8  = 70 + 8  = 78
                      10    10    10   10



b) 9,4 = 9 + 4  = 90 + 4  = 94
                      10    10   10    10

c) 10,5 = 10 + 5  = 100 + 5  = 105
                          10     10     10    10

d) 0,7 = 0 + 7  = 7
                      10   10

e) 45,6 = 45 + 6 = 450 + 6  = 456
                          10    10    10     10


